FOrReVER | REDWOOD

From the Forest, For the Forest since 1995
866.332.2403 (TOLL FREE); 7am — 7pm Pacific Time, Monday-Saturday

ASSEMBLY INSTRUCTIONS FOR THE
OVERSIZED COFFEE TABLE




'321S Uo buipuadap Aiba jjim a1pmpapy JnoA Jo suoisuawiq :910N

D A O e e e ey

"(dois|qer sy 03 sbs| ayr yoene 01)

SHog ,.#19 X ..8/€

[ sssssnssiiig

(doyajqer ayp 01 sba| 8yl yoene o)

sHog . % v X ..9T/S

‘ON

Buimeaqg

uondiiosag

1SIT 3dVMAUVH

“JU3s supd Y3 U PaYIDW SIAqUINU 3Y3 03 YIIDW J0U Op 3saYy ‘Ajuo aduaJafal 4of 3p 3[GD] SoX0g JO JUIIUO) Y3 Ul SI3qUINU 1UDd 930N

PaJapJo §| "KIeA ]I
Z dos|geL T
‘'ON Buimeaqg uondiiosag yile)
S3X09 40 LNILNOD

Pl 1

OVERSIZED COFFEE TABLE
www. ForeverRedwood.com



"JU3s s14od a3yl uo paypw siaquinu a3yl e
031 Ya1bW 30U 0p 3say| “AjUo ouaIafal Jof
a4p BUIMpIQd aY31 Ul s1aquinu 1od :310N T
\\\?l!ll./

€ slamelq H
4 dolsjqe L T 1|
1 sha

ON | NOILdId0s3a

P| 2

OVERSIZED COFFEE TABLE
www.ForeverRedwood.com



Step 1: Place the tabletop upside down. After that, use 5/16"" x 4 %" bolts (A) and 3/8"" x 6 %" bolts (B) to attach the legs (1)
to the tabletop (2). Each part has a series of numbers that indicate where to attach the part with the corresponding number.

5/16"” X 6 %" Bolts

5/16" X 4 ¥%."" Bolts

Step 2: Turn table over is feet.

P|3
OVERSIZED COFFEE TABLE
www. ForeverRedwood.com



Step 3: Finally, if your table includes drawers (3), place them.

OVERSIZED COFFEE TABLE
www. ForeverRedwood.com

Pl 4



This completes the Table Assembly. Hope you enjoy your set for many decades. If you ever have a problem or a question, don't
hesitate to call us (866 332 2403) or email us. We are here to support you.

P| 5
OVERSIZED COFFEE TABLE
www.ForeverRedwood.com



